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Agricultural Mathematics and Elementary Statistics (Paper-V)
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Note * (i) Thercare inall 17 questions in this question paper. All questions are compulsory.
iy Marks alloted to cach question are given against it.
(iti) Write the steps of solution of each question in your answer book except question No. 1.
(iv)  Start from the first question and proceed to the last. Do not waste time over a question. if you can
not solve it.
(v) Do all rough work in your answer book.

1. TE B TP @ve B IR @ v 9R Ree Ry m # ) 98 e el sw-gRae
# forfa |

Four options are given in each part of the question. Write the correct answer in your answer book.

(@) Cos 150° T A9 & — - 1
The value of Cos 150° is—
1 . 1 ey V3 . 3
() 3 (i) -3 (ii) -‘-i_— (iv) - ";—
(@) (64)™ BT AF B — ;
The value of (64) 7 is~
(i) 6 (i-16 (i) 56 (iv)-256
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@@ afe ve =we @ rar A BT -
If "¢ =" the value of r will be -
(i)1 (i) 2 (i) 3 {iv)4

(@) g 6.8) Y- 387 q g & -
The distance of the point (6, 8) from Y-axis is -
(i)10 (i) 8 (iii) 6 (iv) 4

—

(8) & T R Tl FRIRNY Jo B SHagdl 2:5 B AU A €| T GHTBI I

IR B —

1

The heights of two right circular ¢vlinders of same base are in the ratio 2 : 5. The ratio of their curved

surfaces will be —
1)2:5 (in5:2 (iii)3:2 (iv)2:3

afe e s Ao @1 pdl U 3n-4) B S ITST 1897 TS I diford |
[f the n™ term of any arithmetic progression is (3n - 4) , find its 18" term.

U AAATHN 3G & o g 5 I iR e 4 3 8| afe owar angas 60 9 99 2

ISP HAg I DT |

. The length of a rectangular solid is 5 cm and the breadth is 4 cm. If its volume is 60 cm?’, find its height.

R 16"p,=13""'p, A n W HF A BT
If16”p =13 ""pj , find the value of n.

afx tanG=% ar fag dfim-

4
If tan tan €= 3 - prove that -

1-sing 1
l+smé@ 3

frar & A=(3,1) R B=(0,y- 1) T y & HF a afog afe AB=5
GivenA=(3, I)and B=(0, y—1). find the valuec of y ifAB = 5,

e e ] 1] 5 2] ioa[ 2] - g

Prove that : 24 _Eﬁ

AR (a+b). 2b, (b+c) BB AN H & Y g SRIT F o, b, ¢ ToreR Soft F 8
If (1 + b), 2b. (h+c) areinH.P, prove thata. b, ¢, willbe in G.P.
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9 uﬁ%tam:%am tsrnn=%ﬁ%aﬁﬁq%: A+B=% 2
Iftan A= l and tan B i provcthat: A+B= z
2 3’ ’ 4
10. TP TR 48 D MR BT B 817 T A7 & Tor Hars 14 T B | I BT aHyR
S DTS | 2
The area of the base of a right circular cylinder is 81 7 cm? and the height is 14 em. Find the surface area of
the cylinder.
1. TS AB BT 74 fasg M @ A Frdeias sma AifSg afe M=(1, 7y & B=(-5, 10) 2
The mid point of a line segment AB is M. find the co-ordinates of Aif M =(1, 7)and B =(~ 5, 10).
12. U AT IR @ SR F 30 e ) Rera el farg ¥ Aiv @ Ry &1 37789 @1or 30°
& | 9 B 6 AR 31 et Harg 0@ ok a7 o 6 o fig ® AR @ B
& I~AT P07 45° B AR? (3 =1.732) 4
The angle of elevation of the top of an unfinished tower at a point distance 30 m from its base is 30°. Find that
how much higher must the tower be raised so that the angle of elevation of the top of the tower at the same
point may be 45°7 (/3 =1.732).
YAl (OR)
g aferg fas
Prove that : c0s (36° - A) cos (36°+ A) + cos (34° + A) cos (54° — A) =cos 2A
13, 12 MR S ViANER T B IR B aRY 66 Wrex ¥ ) w7 srafde arg & amgad sna
BIFAT | 4
The circumference of the base of a 12 m high conical tent is 66 m. Find the volume of the air contained in the tent.
JAAT (OR)
AfY @ U@ e & e 6 [ 2| el B Araerax 0.2 9 @ &7 Oe orr O 9411 T |
TR B THEE S BT |
The diameter of a sphere of copper is 6 cm. A long wire of the diameter 0.2 cm is made by melting the sphere.
Find the length of the wire.
14. & Brpe @ st & Adei® A(0.b), B(0,0)T C(a, 0081 3} BY ACR =10 " o
o p A A g AW RF: -
LIS S 3
p: _al b 4
The co-ordinates of the vertices of any triangle are A (0, b), B (0, 0) and C (a, 0). If the length of the
perpendicular drawn from B to AC is p, prove that:
l 1 1
==+
p oa b
QAT (OR)
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| @M 3x+ 2y = 10 T or@nas difuy R 99 fag & e sma e @t ag
y- 38 B FHred g |

Draw a graph of the straight line 3x + 2y = 10 and find the co-ordinates of the point where this straight line
intersects the y-axis.

15. fFr=aferRas wroft § 5 seanr @ eo fenfElal @ 7w & graie Y ™ & | urria! & TareR
qET P} AT BHIFAT | 6

The marks obtained by 60 students of a class in mathematics are given in the following table, Calculate the
Arithmetic Mean of the marks obtained.

5““”, 0-20|20-40| 40-60] 60 —B0 | 80 - 100
Marks obtained

Number of students

AT (OR)

r=fafeg 429 @ wiftasT sa Fifo
Find the Median from the following distribution :

TR & A 40 _45|45-50]50-55|55-60{60-65| 65-70 | 7075
Weight (in kg)
Rrenforat = s 2 3 8 6 6 3 2
Number of Students
16. fA=fafRed snwsi | dgcid F @fore . http://www.ukboardonline.com 6

Find the Mode from the following data :

amg (aut %) 5-15 |15-25|25-35|35-45 | 45-55| 55-65
Age (in years)

At 2 e 7 12 o | 2 13 7
Number of Patients

17. Fr=faea sriwst @1 ame RAaem s SR 6
Find the Standard Deviation of the following data :

Er‘ia_l el 30-40|40-50)50-60) 60-70| 70-80| 80-90 |90 - 100
Class interval
RG] 3 7 12 15 8 3 2
Frequency
ke kk
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